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N
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IS
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S 6,300
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H

SIS 2= 5,040 196,200 191,160

1,512
Al 3,528

H
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SRJAHIXA 4,388,477 4,425,473 A 36,996
101 Q12| 4,177,517 4,213,313 A 35,796
01 JIE3 2,592,542 2,595,920 A3,378
Oo2= 2,401,736
43 (HS) 66,082,000& * 1% 66,082
oba 2,961,300& * 49 » 123 142,143
S 2,555,600& * 13H * 12& 398,674
7= 2,132, 700& * 47H * 12& 1,202,843
=8= 1,583,300& * 198 » 123 19,000
=9= 1,191,400& » 8 » 12& 114,375
o H A 45,982,000& * 194 45,982
oHFA 2,328,000& * 99 » 123 251,424
=JIsH 1,919,200& * 79 » 123 161,213
OGS, 190,806
odH2eY 2,289,672,000& = 1/12 190,806
02 =% 559,401 639,928 280,527
O=un22H 170,990
o AlIZtR =g 170,990
l=22% 88,401
— B
8,312& » 83F » 10AI2F + 123 82,788
-JIsA
6,682 * 78 » 10AI2F » 123 5,613
Sg2:2 82,589
-sgZel
8,312& * 46 * 10AI2 » 12& 45,883
— A=Al
8,3123 » 46F * 4AI2F + 12& 18,353
— RH ol CH =4
8,312& * 46 * 4AlI2t «12& 18,353
OFSELES=, 332,623
oIErY 82,992
BN 40,0002 = 91H = 0.9 « 128 39,312
b S 20,000& » 91 * 2.0 = 12& 43,680
o XSl ExY 26,625
== 51,4002 = 91 = 0.2 * 43| 3,742
=i
419,000& = 919 = 0.15 * 43 22,883
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A= BAL SN BAR(M
M HYEHAH(SHAMD)(JIEHIIE)
el QA2 HY|(E) (=CRE)
- _ — PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
oZdI2sY JHt= 100,0008 » 0F ~ 128 108,000
o2z 24
2,355,763,880& * 4.8% * 60/100 67,846
o g2 44,400
EES 50,000 * 14% = 12& 8,400
£5 40,0003 * 759 » 128 36,000
cEXX 224Y 2,760
SX(2N BENTRL)
40,0008 * 5% » 123 2,400
E=DNICSFAFSE=RY
30,000& * 1 » 12& 360
OS8R =& 55,788
oll=gR ¢ 22,200
5504t 50,000& * 2% = 12& 1,200
6~72 30,000 * 352 x 12& 12,600
- 8= 0I&t 20,0003 = 35H + 123 8,400
o22HR = 29,748
- 829 909,000& * 1& = 128 10,908
GFH 70,0008 * 1H = 123 840
S H 50,0002 = 16H + 123 9,600
olZ I At 50,0002 = 14H « 123 8,400
ofgstdae g ¢ 120
=S 2elk 10,000& » 1H * 128 120
oktSxt 28 ¥ FHIER =¥
40,0008 * 4H « 123 1,920
cQIAHR = 30,0002 = 5% » 12& 1,800
03 HHZ4AH| 141,960 143,520 21,560
O&FRA(IIsE ZE)
130,000& * 919 » 1228 141,960
04 WEEXH| 138,840 143,520 24,680
OFRE(IIsH =&
130,000& * 89H * 12& 138,840
05 HEFIHI 228,968 234,219 A5,251
OFRE(IIsH &8
2,289,672,000& * 1/12 = 120% 228,968
06 JHAIXI&HI 382,376 391,145 28,769
OFAA(0Isa ZLE)
2,289,672,000& = 0.167/12 = 12& 382,376
07 AJHE &M 133,430 65,061 68,369
OFAXN(IISTEE)
2,401,736,000&  1/12 = 1/30 = 20 133,430
204 XPHAH| 210,960 212,160 A 1,200
01 Mg PR AH| 9,600 9,600 0
O42 (A E) 400,000& = 198 » 128 4,800




A= 8AA SN 22
M HYEHAH(SHAMD)(JIEHIIE)
CHel: ol 2 oH|(S ) (=E R E)
A= .24 Z - B9(3) - NRAY - BS 04t o e HIDE2
Ob55 100,000 * 4% = 128 4,800
02 Mg 2xH| 149,760 149,760 0
O4=(2F) 400,000& = 18 = 128 4,800
Obs 250,000& * 48 « 123 12,000
Ob= (MY H AR LE)
155,000& * 148 = 128 26,040
O7= 140,000 * 229 » 128 36,960
0895 105,000& * 35 * 128 44,100
OJlsr= 140,000& * 18 « 123 1,680
OJ1=(8~932) 105,000& * 5& « 123 6,300
OJlsi0= 95,0002 * 1€ » 128 1,140
2E6= 155,000& * 99 » 123 16,740
03 SHUR+HESH| 51,600 52,800 A 1,200
OtHergt=tl (62 0lat)
50,000& = 86H » 12& 51,600
o2yl 11,860 1,560 300
QI 2| 11,860 11,560 300
203 HR=&H| 11,860 11,560 300
01 JI22EYRFAH| 3,300 3,000 300
OJ|2=2d ge=a 3,300
oa¥ 3,300,000& = 14! 3,300
02 HRIMHRFAH| 3,160 3,160 0
Og&IKt R 40,0002 * 79H 3,160
04 REN2EHRF=AH| 5,400 5,400 0
ORKN2E g2Fd 450,000& » 122 5,400
=Y 43,91 46,586 12,625
Jl=& 43,961 46,586 22,625
201 Y] 27,871 28,586 AT15
01 AbR22lbl 23,371 25,562 A2,191
Oget=Z4| 16,496
oHIANRES I 5,956,000& * 14! 5,956
odlHIH| +cltl 440,000& = 103 4,400
= J|E =&4| 450,000& = 102 4,500
oHAL KE A= 70,000& = 123 840
oQldAZ ¢ 200,000& = 43| 800
O=¢&H] 6,875
ol R+ ZAHl  6,875,0008 * 14 6,875
02 3323l 4,500 3,024 1,476
O&32= % MAl 4,500
oREE U&(SI], ¥
1,500& 2508 * 123 4,500
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Hlw

21,910

LH3r
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Ofl &k 24

16,090
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16,090,000& * 14!
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Y Y H

oy oy ry
0z H1 b~

ftor >

H
I
x

« N XH .
[ =1 |

SRI(BH) - HIRALY - BE S

Ofl &k 24

L= pal

pym
J2H

Ol

Pal
1=

= LS W

5,061,227
145,853
1,456,496
62,500
531,567
2,864,811

4,684,236

= AL W

5,021,027

145,853
1,456,496
62,500
531,567
2,824,611

4,647,689

373,338

[

0
0

N

b
i
>
ra
0z
Uton

to

N

1,100,638
377,864
137,105
585,669

1,033,096

67,542

02
FA
S
0y
el
>
114

i

259,376
129,688
38,906
90,782

309,252

N49,876

101 2124

H

12,968
6,484
1,945
4,539

15,463

A2,495

12,968,000& * 14!

N

12,968
12,968
6,484
1,945
4,539

15,463

A2,495

307 QI2H0| &

H

246,408
123,204
36,961
86,243

293,789

ANA47,381

246,408,000 * 14!

N

246,408
246,408

123,204
36,961
86,243

293,789

A47,381

N

29,820

8,950
20,870

29,820

307 QI2t0|&

H1

29,820

8,950
20,870

29,820

=
10
"o
0y
O b

O
(Tl
[wl

==

oY
[pal
R

29,820,000& * 14

N

29,820
29,820
8,950

29,820
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A= BHA A AASA
M ALCAl JIBEL(EH/BHAAR)
ol AUME AF M (e @
- _ — PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
| A 20,670
HEHEE A 39,000 26,000 13,000
< 11,700
Al 27,300
307 21201 39,000 26,000 13,000
< 11,700
Al 27,300
01 =22+ =| 39,000 26,000 13,000
ONEd A A 39,000,000 * 1A 39,000
< 11,700
Al 27,300
KNSS3 AZ-HEN NS AL 60,000 60,000 0
| 30,000
S 9,000
Al 21,000
101 el 15,000 13,636 1,364
| 7,500
< 2,250
Al 5,250
10 JIZtMI2 2 SE+ 15,000 13,636 1,364
OHZHERIN S AL 15,000,000& * 14! 15,000
Il 7,500
= 2,250
Al 5,250
201 Zet23d| 30,500 31,564 A1,064
| 15,250
< 4,575
Al 10,675
01 AtSZeltl 23,500 27,564 A4,064
OHZHERINE AL 23,500,000& = 14! 23,500
Il 11,750
= 3,525
Al 8,225
03 A2 7,000 4,000 3,000
OAZHENIH A AL 7,000,000& » 14 7,000
J| 3,500
< 1,050
Al 2,450
202 o4l 5,000 5,300 A300
| 2,500
= 750
Al 1,750
01 =UWxHI 5,000 5,300 A300
OAZHERIH A AL 5,000,000& =14l 5,000
J| 2,500
< 750
Al 1,750
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A2 Z2HA A AASA
I AYCA JPEL(2A/LAO
ol AUME AF M (ol @)
- _ — PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
301 LEIE A= 2,500 2,500 0
J| 1,250
< 375
Al 875
10 AMAHIE A= 2,500 2,500 0
OHZHEHIN S AL 2,500,000& * 14! 2,500
| 1,250
= 375
Al 875
307 21201 3,000 3,000 0
J| 1,500
< 450
Al 1,050
01 =22+ =| 3,000 3,000 0
OHZHEHIN S AL 3,000,000& * 14! 3,000
| 1,500
= 450
Al 1,050
405 KHoHESHI 4,000 4,000 0
J| 2,000
< 600
Al 1,400
01 Tt = SF S 4,000 4,000 0
OHZHEHIN S AL 4,000,000& = 14 4,000
| 2,000
S 600
Al 1,400
=¢EclY 29 90,000 130,000 240,000
J| 45,000
< 13,500
Al 31,500
101 @14H| 36,000 51,000 A 15,000
Il 18,000
= 5,400
Al 12,600
10 JIZtN22HsSE+ 36,000 51,000 A 15,000
Oz¢d2eld23 36,000,000 =14 36,000
| 18,000
< 5,400
Al 12,600
201 LEr23H| 15,300 37,100 21,800
Il 7,650
< 2,295
Al 5,355
01 AtR22lt| 15,300 37,100 21,800
O=s¢ZEeld=2Y 15,300,000& =14 15,300
| 7,650
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NETFIPS SN ALSAD
I AYCA JPEL(2A/LAO
ol AUME AF M (e @
- _ — PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
= 2,295
Al 5,355
202 0ddl 4,500 11,900 AT,400
J| 2,250
< 675
Al 1,575
01 =W 0l 4,500 8,400 23,900
O=d3eld=23 4,500,000& * 14| 4,500
| 2,250
= 675
Al 1,575
301 LEE NS 4,500 2,000 2,500
J| 2,250
< 675
Al 1,575
10 HAAHIE A S 4,500 2,000 2,500
O=d3eld=23 4,500,000& * 14! 4,500
| 2,250
= 675
Al 1,575
307 gI2tol ™ 27,000 23,000 4,000
| 13,500
< 4,050
Al 9,450
01 =224 27,000 23,000 4,000
O=d3eld=23 27,000,000& = 14! 27,000
| 13,500
= 4,050
Al 9,450
405 KHabE SHI 2,700 5,000 2,300
| 1,350
< 405
Al 945
01 Tt = SF S 2,700 5,000 22,300
O=d3eld=23 2,700,000 » 14 2,700
Il 1,350
= 405
Al 945
& A 2/=dl K& 307,328 150,100 157,228
| 153,664
< 46,099
Al 107,565
301 LEE NS 307,328 150,100 157,228
J| 153,664
< 46,099
Al 107,565
01 Alel2EH 5= 307,328 150, 100 157,228




N FiPS SA ALBEDY
A HUECA JIBEH(E2A/2428)
ol AUME AF M (e @
- _ — Pl
AR RN ZH - S(S) - NPAY - BES 03] &k o8 St BlRE2
O &k 2zHl K& 307,328,000& * 14! 307,328
J| 153,664
< 46,099
Al 107,565
ZAMEE XIIATAY 29,820 29,820 0
< 8,950
Al 20,870
307 QI2HOIA 29,820 29,820 0
< 8,950
Al 20,870
01 =22+ =| 29,820 29,820 0
Oy A ALY 29,820,000& * 14 29,820
< 8,950
Al 20,870
AL M AT AL 52,500 39,853 12,647
101 1Al 21,500 11,653 9,847
10 JIZtN22HsSE+ 21,500 11,653 9,847
O2sxgs =g 11,653
=JlEa 40,6002 * 19 » 2302 9,338
orgrl 40,6002 * 18 46 1,868
SIS DNESIS 40,6003 * 1€ = 11 447
O 2sue2d 8y 9,847,000 * 14 9,847
201 2Bt 9,000 8,200 800
01 AtS22lH| 8,000 5,500 2,500
Oget==&H| 8,000
oRSAEAEYE 2t &X
6,000,000& » 14 6,000
cHUMEAMM WEAE M
2,000,000 14 2,000
02 3224l 1,000 2,700 A1,700
OAE EHIR AL 1,000
o2s XY FHl KA
1,000,000& * 14 1,000
202 0ddl 2,000 0 2,000
01 2LHHbI 2,000 0 2,000
O=0UALSTANELEZY S0
100,000& = 2 = 10012 2,000
405 XHabE SHI 20,000 20,000 0
01 L EEFH S 20,000 20,000 0
O2sHea FHl2Y 20,000,000 = 14! 20,000
St A B A XS 193,770 209,007 N15,237
101 Q1| 72,814 72,814 0
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NET FipS SN RALSTD
A ALTAl JIB M (22/2242 %)
ol AUME AF M (e &
- _ — &4
AERE CRE-ERI=CICE DR EINRE-REE Ofl &t o4 St HI B S
OZAAB WA ASA 1,000,0008 * 14] 1,000
12 JIe2d=3 4,400 4,800 2400
ONs=81 US==E As2d
4,000& = 1,100& 4,400
307 2lz2told 83,350 86,000 A2,650
01 elzya| 83,350 86,000 ~2,650
O0lSEALEY MZ o=
10,0008 = 100 = 202 20,000
Otdg=etkt dgefE 10,0008 * 1,0008 10,000
OJrdg=atAl=zd &8l 10,0008 * 3,000 30,000
Oty i 2SI 1,8008 » 5,000€ 9,000
OMa |- 20,0008 * 155 * 102 3,000
OSEE 135,000 * 102 1,350
OLlgg . g . SdAHESE 222
5,000,000 * 28 10,000
405 KHakH =4 4,000 4,000 0
01 I ESFH S 4,000 4,000 0
OMEI2+Y 200,000& » 205 4,000
KIS ALSl 242 AL 39,024 32,520 6,504
Il 19,512
Al 19,512
307 212told 39,024 32,520 6,504
Jl 19,512
Al 19,5612
02 It AE X 39,024 32,520 6,504
OBFSEEANZAMH 25
39,024,000 * 14 39,024
Il 19,512
Al 19,512
SIZFAS 28 o2 1,473,000 1,574,765 A101,765
=2 13,364
Jl 571,182
= 62,500
< 246,151
Al 579,803
St 2 X+ AAHHl X2 13,372 10,266 3,106
=2 6.686
& 6,686
301 &eteds 13,372 10,266 3,106
= 6,686
& 6,686
01 ArRIE2&XH=dl= 13,372 10,266 3,106
Ot 2 A+ MABIXIZE  13,372,0008 * 14| 13,372
= 6,686
& 6,686
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NET FipS SN AYSHD
R HYTAl JIPEL(22H/22422)
S QS FHAANS 2Y o2 (2. &3
- _ _ AN
AR . 2B OP(5) - MRAY - BA= Ofl &k o St HRS2
e M2 244 2,000 2,000 0
= 600
Al 1,400
201 BtEHy| 2,000 2,000 0
T 600
Al 1,400
01 AtE2teltl 2,000 2,000 0
OMEHS Q2 %A 2,000,0002 * 14! 2,000
= 600
Al 1,400
SABAMEH 29 152,500 150,000 2,500
J| 76,250
& 22,875
Al 53,375
307 CI2t0|™ 152,500 150,000 2,500
J| 76,250
& 22,875
Al 53,375
02 QIZtBAMEX 152,500 150,000 2,500
OB BAMEHESY 152,500,000& * 14 152,500
J| 76,250
= 22,875
Al 53,375
22 MEHH 29 119,764 127,250 NT,486
J| 59,882
& 17,965
Al 41,917
307 2I2t0|A 119,764 127,250 AT ,486
J| 59,882
T 17,965
Al 41,917
02 QI2tAAE =X 119,764 127,250 AT ,486
OgDSAEEHESY 119,764,000& * 14 119,764
J| 59,882
& 17,965
Al 41,917
XA HIE 2 5,000 5,000 0
= 2,500
Al 2,500
201 Bt2HH| 4,200 4,200 0
= 2,100
Al 2,100
01 AtR2teldl 4,200 4,200 0
OXIHASHE2H ()  4,200,0008 * 14! 4,200
= 2,100
Al 2,100
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- _ _ AN
2.2 FY . E(BH) - NBAY - BYS St

202 O4H] 800 800
= 400
Al 400

01 =ZLHHHI 800 800
OXjASHEHESE (8 800,000& 1A 800
= 400
Al 400

A SHAIE E2F 120,000 120,000
= 60,000
Al 60,000

307 212t0|A 120,000 120,000
= 60,000
Al 60,000

02 I2ZtBAME =X 120,000 120,000

OAMEEHANE2H (2

120,000,000& * 14 120,000
g 60,000
Al 60,000

XIOHEH R S2r2te] 2 kRl X 2,500 2,500
& 750
Al 1,750

307 212t0|A 2,500 2,500
& 750
Al 1,750

01 222 ZH| 2,500 2,500
OXIHS MYl XIZAI 2,500,008 * 14 2,500
= 750
Al 1,750

SZXE2IRA 20,000 20,000
& 6,000
Al 14,000

101 2124y| 13,500 11,652
= 4,050
Al 9,450

10 JI2ZtHI22XsSE 13,500 11,652
O==ZxE2I XA 13,500,000& 14! 13,500
& 4,050
Al 9,450

201 Bt2HH| 4,700 4,500
& 1,410
Al 3,290

01 AtS2telbl 4,700 4,500
O==Zxt29 XA 4,700,000& * 14 4,700
& 1,410
Al 3,290

301 LEEAZ 1,800 3,848
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Ofl &k 24

L= pal

pym
J2H

i

Al

540
1,260

S
02
=

0 HI

®)
o
oo
b=
Ho o
02 0y
=
o

1,800,000 * 14!

i

Al

1,800

1,800

540
1,260

3,848

A2,048

THOLEHRE 2t S AFS

i

Al

24,875

7,462
17,413

5,500

19,375

201 &

ra
0
02
=

i

Al

4,875
1,462
3,413

4,875

01 AtR2eltl
OMItEA2tS A E 2

4,875,0002 * 14!

i

Al

4,875

4,875
1,462
3,413

4,875

HOI &

[l

r
r

=)
N

307

i

Al

10,000

3,000
7,000

5,500

4,500

01 olZYR2H]

OTHIIE RIS AL

10,000,000& * 14!

H

Al

10,000

10,000

3,000
7,000

5,500

4,500

405 AHatFSH

H

Al

10,000

3,000
7,000

10,000

10,000,000& * 14!

H1

Al

10,000

10,000

3,000
7,000

10,000

v

N

Al

288,972
144,485

41,073
103,414

476,052

187,080

Il

i

Al

273,823
136,911
41,073
95,839

466,560

N192,737

273,823,000 * 14

Il

N

Al

273,823

273,823
136,911
41,073
95,839

466,560

A192,737

201 &

X
H0
02
=

Il
Al

3,110

1,585
1,555

3,096
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e R PP SN ALSAD
M HLTAl J|BIEA(22H/22H02)
ol 2HUAUS BY L2 (e & 2l)
= - — AN L=
A= 2N ZHB(EH) - DAY - By 0fl b e Rz
01 AtR22ltl 3,110 3,096 14
odgold = 3,000,000& * 14! 3,000
| 1,500
Al 1,500
Ozlnzelltu= 110,000& * 14 110
| 55
Al 55
202 O4Hl 4,547 4,896 A349
| 2,273
Al 2,274
01 =U0bl 4,547 4,896 A349
OXNEE Y=AHL2CIAS  4,547,0008 * 14 4,547
| 2,273
Al 2,274
301 LetEas 1,500 1,500 0
| 750
Al 750
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2 1,500
Al 1,500
Oo2d+g 74,000
ocHMstE MBI &4 LAY
50,000& * 23] * 30 * 6H 18,000
= 9,000
Al 9,000
oHRZMNuE 2ArE
50,000& * 23] = 32 * 54 16,000
= 8,000
Al 8,000
oHMEISHE ZIZ N 2ASY
25,0003 * 8AIZH » 10JHE * 204 &+ 40,000
= 20,000
Al 20,000
At2&H| 90,000 7,000 83,000
Msts MBI FH(201n=)
10,000,000 * 14! 10,000
= 5,000
Al 5,000
gasts g2 25 10,000,000 * 13 10,000
= 5,000
Al 5,000
HEEYSISEN 29 50,000,000 * 14 50,000
= 25,000
Al 25,000
st=MIOILE JH=E 8,000,000& = 23| 16,000
= 8,000
Al 8,000
BMstgd|2 AR H=
4,000,000 13/ 4,000
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=) = S &
HUSISHN PE(DS/HY - N D)
SIS Al 243 (S d &)
RN BB BRI() - MRAY - BES ofl &t e HIDE
= 2,000
Al 2,000
202 OH| 10,000 0 10,000
= 5,000
Al 5,000
01 =UHAHI 10,000 0 10,000
OBMSIEARER 0fy|
200,000& = 5& * 102 10,000
= 5,000
Al 5,000
301 eet2a=s 13,000 0 13,000
= 6,500
Al 6,500
10 HAIMHI2 &= 13,000 0 13,000
OBMEIS SAL 21X SAH|
4,000,000 * 14| 4,000
= 2,000
Al 2,000
OEYSsdHAL ZIMAL WSHI
50,0002 * 50 = 23| 5,000
= 2,500
Al 2,500
OZ At ol 50,0002 * 208 = 43| 4,000
= 2,000
Al 2,000
307 212told 136,000 46,000 90,000
= 68,000
Al 68,000
02 It a2 X 136,000 46,000 90,000
OBMSIE24T2 AR
5,000,000 * 8IHA 40,000
= 20,000
Al 20,000
OB MBI E24S0t2 B2 XIR
500,000& 2004 2 10,000
= 5,000
Al 5,000
O=F2UNXMEH ?+ 2208 K&
3,000,000 = 109424 30,000
= 15,000
Al 15,000
OagAs =28 X
5,000,000& = 42 20,000
= 10,000
Al 10,000
Ogel=2o s ALY 2,000,0008 * 3. H 6,000
= 3,000
Al 3,000
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JIEFAFE A& A Bl sZAI=AH
BUSISHA 2H(RS/EY - JHWS)
BMstET Al 2435t (et &3
- _ — PolE |
2 2A BB OR(EN) - HRAY - BES 0l &t St HIRE2
Ooliysr g4dst XN@ 2 S22 e
250,000 * &% = 102 * 40 30,000
= 15,000
Al 15,000
HAstsZAIXA 20,000 0 20,000
< 10,000
Al 10,000
307 2I2+0I M 20,000 0 20,000
< 10,000
Al 10,000
02 QA AEE 20,000 0 20,000
OgdstsitSIH Il At
20,000,000 = 14| 20,000
< 10,000
Al 10,000
gdstis Algds 283l 6,400 4,000 2,400
202 o4l 6,400 4,000 2,400
01 =UWxHI 6,400 4,000 2,400
OZMsHET Al MOILE &4
200,000& * 2H * 43] 1,600
OBMSISTAl DY &A
200,000& * 498 « 23] 1,600
OBMsSISEAl Ast & AIOILE
200,000& * 29 « 43] 1,600
O/ 3ASE I Kl 200,000& * 4H « 23] 1,600
BN 29 24523t 2R/250=) 1,686,606 1,802,697 A 116,091
= 229,260
=2 116,400
Al 1,340,946
HAUEA2 223 1,393,676 1,631,125 A137,449
= 229,260
=2 67,200
Al 1,097,216
NEEM22S 157,424 262,763 A 105,339
101 QI2H| 43,444 35,395 8,049
10 JIZtN22HsSE+ 43,444 35,395 8,049
OXtz 4l 2te] 23,444
=JlZs 33,890% * 2H * 230 15,590
oxFFdg 33,8902 * 2%  46¥ 3,118
oAHXt+=E 33,80& * 2¥ » 11 746
oAZ2tel=E 19,9503 » 2% x 10 =10& 3,990
Oooglol Hza 23 10,000,000& » 1& 10,000
OdlESs Mz 2 S3tH 29
10,000,000& » 1& 10,000
201 Zet23d] 71,980 105,368 A33,388
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= JIBtAE A A BUSISTAIFAH

T NSNS 2Z 243H(2L22/2350=)
ool M2 2L (e &2
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
01 AtS2teltl 46,600 70,768 A24,168
Ogt==ZH| 43,000
o J|Z2AIREEHI 2,400,000& = 14 2,400
oM sE=S HME  2,000& * 2,000% 4,000
oplE Y 2HHE 800,000& * 12& 9,600
CTNE 2% 22 31 ¥ 2R
3,000,000& * 33l 9,000
oL ANACIAZEE 200,000& * 10& * 53 10,000
°oEAM 018 33 2,000 * 4,0000H 8,000
Oul=t| 3,600
o AtMCH 285 200,000& » 9H * 23| 3,600
02 224l 7,200 14,400 AT7,200
O322= 2 HA 4,800
o NZEIREZ 300,000& * 4J4A 1,200
SKTHIOFIH A 300,000& * 12& 3,600
OAE EHI= AL 2,400
oZHOIX MEZ 200,000& * 12& 2,400
03 A2 GHI 18,180 20,200 A2,020
OHAIR M2 HAL2ELI 18,180
cEERUSHEF 1,000& = 2,7000H 2,700
o9 & ABZH|  4,500,0003 * 14 4,500
o AN&EEHILXE 4,500,000 * 14 4,500
cHMALRIRE RIBH ZAI=
90,000& * 62 * 128 6,480
405 KHobE=HI 42,000 122,000 /80,000
01 =S FSHI 42,000 122,000 /80,000
O&AMae Ty 1Y
40,000,000& = 14 40,000
O=Ed 500,000& * 44 2,000
AL Rl 2el 243,302 240,292 3,010
101 Q1| 12,680 12,022 658
10 JIZtHI22XsE = 12,680 12,022 658
O A Hz=2el 40,6003 * 302 + 1H 1,218
OB AL Eazel 11,462,000& * 14 11,462
201 Lpr2 | 186,822 176,470 10,362
01 AtS2teltl 39,650 33,450 6,200
Oget=ZH| 14,900
o HIEH|R XL 300,000& * 12& 3,600
oHAA ALY L MIEHI
300,000& 13l 300
odA el A2F 30,0008 x 1085 * 12& 3,600
o RAtAZHIY 200,000& » 102 2,000

_25_




NS [ISONI=PN A HMSSTAIEND

HH: AMEENZ 2F %’éik(%ik%%%/%i%@l%fOﬁ o
ool HRTHB 2IL (et &
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
EEEIES =Y pe 200,0002 * 152 3,000
oYUM U BHFA A
20,000& = 1085  12& 2,400
OfIE W =H| 350
1=t e F DN M, 150,000& * 13 150
ST AIDIA OHE LR W=
200,000& * 14 200
Oul=l 400
o™ AtZ2| AL Ol =H| 200,000& * 23| 400
Oo=2gs 24,000
SR=ES =y 50,0008 * 115 5,750
o= 50,0002 = 365 18,250
02 224l 147,172 143,020 4,152
O32223 2 HMA 75,700
o0lsEM2 ¥ =3F10 NSIHAl
100,000 * 2CH * 13 200
oM - otrER 800,000& * 12& 9,600
oMIICHEFH =3 600,000& * 13l 600
oHIX =HZE 1,000,000& = 14! 1,000
SHAMNEEH =32 400,000& * 13l 400
oMI|CHMAL|HE T
140,000& * 12& 1,680
ocAUFHAFrZ 600,000& * 13l 600
o5d)| ALY =5  80,000& * 12& 960
o=z 2o 100,000& * 12& 1,200
o=83 FA4AZ 400,000& * 23| 800
oA ESAS 1,500,000& = 13| 1,500
oHMASZE 100,000& * 12& 1,200
oMIIHMel ==& 220,000& * 123 2,640
cEAMNERES 600,000& * 23| 1,200
CUSFURES 200,000& * 23| 400
o AYOLME 3| 100,000& * 13 100
oItACHMEHA MASZEZ 500,000 * 13 500
=0|EA AtDHHA HABEZ
800,000& * 13l 800
oHA SITHEE 700,000& * 13l 700
oXHEBEZ 300,000& * 2CH 600
oMIINER 3,000,000& « 12& 36,000
o ZAIJIAAER 1,500,000& » 6& 9,000
ocREAEZ 15,000& * 123 180
=oZJIEED| U= 320,000& » 12& 3,840
Sali=da] 16,875
oS82 H=ZHl  2,5008 * 15A12F » 150 5,625
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A= JIEtA R A A BUSISTAIFAH
M ANECHZ 29 243 (23 22/25H01=)
ool MEC MR 292 (S &2)
A= .24 Z - B9(3) - NRAY - BS 04t o e HIDE2
otz HZH|
2,5003 * 15A12t = 204 = 150 11,250
OA&EHI= K] 46,597
o FHA HAE 2L 3,250,000& * 128 39,000
oA= KX 2,797,000 * 14 2,797
odMJ| & JIHAE R
1,200,000 * 14 1,200
o2& FHI= Xl 3,600,000& * 14! 3,600
Ot 2| 8,000
SOISEAD ¥ =320
4,000,000& * 2CH 8,000
206 M=Hl 3,800 3,200 600
01 Xz 3,800 3,200 600
ONC L ~222] HHELH
200,000& * 32l 600
O&l 2 ==& Hlg 10,0008 * 202 * 23| 400
OAHEE £ ¢ 1,800,000& = 14| 1,800
O0tel =MZ3 M=+ 1,000,000& » 14 1,000
401 AIEHIZ SO 32,600 15,600 17,000
01 Al£HI 32,600 15,600 17,000
OO0l SA33 E==3Ab  3,000,0008 * 14! 3,000
S M T DA 80,000& = 707K 5,600
O=AZ U - 2R HAUE =MSAL
8,000,000& » 14! 8,000
O=Ma 8015 WA 10,000,000& * 14! 10,000
OXAEAN 22 HXIN 6,000,000& * 14! 6,000
405 KHabE =] 7,400 33,000 A25,600
01 A E=EFHSHI 7,400 33,000 25,600
OAtREE)I 5,000,000& 14 5,000
OsMYDIE # 400,000 = 6K 2,400
NEE2 Uz HS 102,700 186,700 284,000
201 Zet2E| 27,700 11,700 16,000
01 AtR2eltl 27,700 11,700 16,000
Oget=Z4| 27,700
o J|Et=EH] 50,000& = 105 = 128 6,000
oSItH 2AE 25,0002 * 158 * 123 4,500
oAz ARS 50,000& * 105 = 63l 3,000
ozFctd & I 1,000& * 10,0000H 10,000
oZ+EH 140,000& * 308 4,200
405 XKtaHE =HI 75,000 175,000 100,000
01 AR =S EHSHI 45,000 45,000 0
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A= JIEHARRIR SN BYSSEARRG
M ANECHZ 29 243 (23 22/25H01=)
ool MEC MR 292 (S &2)
A= .24 Z - B9(3) - NRAY - BS 04t o e HIDE2
O0glolEA2 =X 2E= g
45,000,000& * 14 45,000
02 =AMLl 30,000 130,000 100,000
O&E=EA Ze= P& 30,000,0008 * 14! 30,000
ZW=EY L FE3AE 2Y 106,900 161,300 Ab4,400
201 Zet2E| 80,900 70,800 10,100
01 AtR2eltl 51,200 33,000 18,200
Oget=Z4| 33,200
SANRES 5,000& = 105 * 503! 2,500
ocE2ER0=E MA 2,000& = 2,000% 4,000
oZEY ABE 200,000& » 122 2,400
oEl & SAHK 250,000& * 30K 7,500
o MRAAMHIA AFEE 600,0008 * 123 7,200
o J|Et==EH| 30,000& * 105 = 128 3,600
oL ME B s 3,000,000& =+ 23] 6,000
Oo=2g+d 18,000
oZANAE Z2A=E 50,0008 * 2& * 602 6,000
oRR2INEASMAE 50,0008 * 1H * 602 3,000
o02l0IE A SANT
50,000& * 2% * 603! 6,000
oSt 50,000& * 1 * 603 3,000
02 33248l 29,700 37,800 28,100
Oss2= ¥ MAl 4,800
o3EMER 200,000& * 201 « 123 4,800
OA&&Hl |XIH| 24,900
oMAE=A2 FXl2tel 600,000& » 12 7,200
oA =Xl2el 250,000& = 123 3,000
o ZHOIX |X2el 400,000& » 123 4,800
oS/W Al X2t 1,500,000& = 13 1,500
oMz ZZ0Y RIZ4H
200,000& » 12 2,400
o NEBIRA 2|2 500,000& = 123 6,000
405 XKtaHE =HI 26,000 90,500 64,500
01 AR =S EHSHI 26,000 90,500 A64,500
OZ=24 IRE 7Y 1,500,000& = 10CH 15,000
OXtg4d ZelHyd| +¢ 500,000& * 2CH 1,000
O&E24 olef 228
10,000,000& * 14! 10,000
A2 M2 ZEAY 312,000 100,000 212,000
= 156,000
Al 156,000
401 AlEHIYL SO 180,000 100,000 80,000
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2: JIEIARRIA SN BMBISTAIENC
M ANEEA2 2 S43H(252 22 /25H0=)
el MRS HB 2223 (ol w2
= - — AN L=
A= 2N ZHB(EH) - DAY - By 0fl b e Rz

= 90,000
Al 90,000

01 Al&HI 180,000 100,000 80,000
OXET M2t &XI8 A 90,000,000& * 2JH2 180,000
= 90,000
Al 90,000

405 KHoHESHI 132,000 0 132,000
2 66,000
Al 66,000

01 Tt = SF S 72,000 0 72,000
OFSPI Rt 36,000,000 * 2002 72,000
= 36,000
Al 36,000

02 =ML 60,000 0 60,000
OYEetEA 10,000& * 3,000& * 2JHA 60,000
= 30,000
Al 30,000

3N EXAY 318,000 368,000 250,000
=2 67,200
Al 250,800

308 XAHXIEHMSOIA 150,000 200,000 /50,000

06 WSI|20HEtEES 150,000 200,000 250,000
OgtuttsE 2 XI&  15,000,0008 * 10904 150,000

403 XXIHHMSX=01H 48,000 48,000 0
= 19,200
Al 28,800

02 SII2SOHSHH#EAISY 48,000 48,000 0

OBMZRY BECHE TAPY

24,000,000& * 2004 48,000
&2 19,200
Al 28,800

405 KHobE=HI 120,000 120,000 0
&2 48,000
Al 72,000

02 EM-7E 120,000 120,000 0
O M-I 10,000& * 12,000 120,000
=2 48,000
Al 72,000

SESEMZ H2AIZE A ALY 146,520 201,270 254,750
= 73,260
Al 73,260

101 el24d| 85,480 100,000 N 14,520
= 42,740
Al 42,740

10 JIZtNI22HSE+ 85,480 100,000 A 14,520
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A= JIEtA R A A BAssZAI=AH
M APCHNZ 22 2432 2R/238H0=)
el MRS HB 2223 (ol w2
A= 2N ZHB(EH) - DAY - By 0fl b e Rz
OFAREduseg ot
85,480,000& = 14! 85,480
2 42,740
Al 42,740
201 Ler23H| 61,040 101,270 A40,230
2 30,520
Al 30,520
01 AbRr2lt] 61,040 101,270 £40,230
ONBAIRZ 2 2|
61,040,000& * 14 61,040
= 30,520
Al 30,520
HEEA2 2E2s 2E Zd| 6,830 10,800 A3,970
202 O4Hl 6,830 10,800 23,970
01 =UObI 6,830 10,800 23,970
=AY T 200,000& * 2H * 23] 800
O M2E3al MolLth &4
200,000& * 29 « 43] 1,600
OAMNMILEH US| 3,630,000& * 13l 3,630
O M2 A 200,000& * 2H * 23] 800
OI2X S48 TH2 2 292,930 271,572 21,358
= 49,200
Al 243,730
oM 29 272,690 228,572 44,118
=2 49,200
Al 223,490
101 QI2H| 49,850 0 49,850
10 JIZtN22 S8+ 49,850 0 49,850
OXs A2t 2 2148l 9,970,0008 * 49 39,880
OXSEMZ FAr22| el
9,970,000& * 1¥ 9,970
201 Zet23d] 21,440 30,172 A8,732
01 AtR2elt| 10,800 17,400 26,600
Oget==&H| 10,800
cUBIAIREEZ 100,000& * 12& 1,200
cEEEHEY 2,000& * 1,000% 2,000
opl2 I 2= 30,000& » 5& « 12& 1,800
o™ FH|=4&H| 100,000& * 38 * 63 1,800
oFAzel A2F  15,000& * 108 * 128 1,800
oHEN A2F 50,0008 * 2& = 123 1,200
= J|Et=EH| 1,000,000& * 14 1,000
02 S22l 10,640 12,772 AN2,132
O222= ¥ HA 8,640
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A= J|EAY A BUSISTAIFAH

SELH IE'C}\-I& 22 243(23Y2Z/25H0=)
ol 018X B0 THE 29 CEERED
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
oc3lEAE R 200,000& * 123 2,400
oXMIlz 300,000& * 123 3,600
o - otk R 100,000& = 128 1,200
<JlE==8 30,0003 = 404 = 128 1,440
OAdEHI= AL 2,000
oA=L A Rl 2,000,000& * 14 2,000
206 M= 4l 3,500 3,500 0
01 =4I 3,500 3,500 0
A2 M2 = 400,000& * 5& 2,000
OHEs Z 50,0002 = 10& = 33l 1,500
401 AlEHIZS 26,000 25,000 1,000
01 Al&tl 26,000 25,000 1,000
OX2E M2 MIHIEAX] SA
5,000,000& * 1024 5,000
oxecA PSR BA
10,000,000& * 1JHZA 10,000
ONSEZMT ¥ ZZBA
8,000,000& » 1A 8,000
OXEA B2 HXIU 3,000,000& = 14| 3,000
405 KHobESHI 171,900 169,900 2,000
= 49,200
Al 122,700
01 T 2EFHS 48,900 46,900 2,000
OARE &I 3,000,000& * 1A 3,000
OZ=24d 2RH 7L 1,500,000& * 8CH 12,000
O2TAZ M 2 500,000& * 3074 15,000
ORSEAB . 227| 7
2,200,000 = 24 4,400
ooz + 1,500,000& * 304 4,500
OX2EAa &I 2 10,000,000& * 1A 10,000
02 &A= 123,000 123,000 0
OX2EAM2 &N 2 60,000,000 * 14 60,000
= 24,000
Al 36,000
O0lscAat EX7Y 10,000& = 1,500& 15,000
= 6,000
Al 9,000
Ozslen 2
10,0003 * 300 = 16004 48,000
= 19,200
Al 28,800
Mele TAR2G 13,000 38,000 225,000
201 Yeregt| 10,000 15,000 5,000
03 A2 GHI 10,000 15,000 A5,000
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A= JIEtA R A A BUSIsTAIFAH
M DTTAHD HE Y 2Y(RAURT/25H0S)
OHel: REC AR 2% 245 (=E R L
A= .24 Z - B9(3) - NRAY - BS 04t o e HIDE2
=llZs 33,8003 * 128 » 230 7,795
oxFdE 33,8003 = 1& * 464 1,559
SE=PNE=y 33,890 * 1H ~ 11 373
oAlZtel2RAY
19,950& = 128 « 10 = 108 1,995
201 Let2a| 59,140 59,140
01 AtR2eltl 39,900 39,900
Oget==&H| 39,900
o J|ZMFESH 2,000,000& * 14! 2,000
SNZA AIRES 4,000,000& * 14! 4,000
oplZ Y 2HlS 800,000& » 12& 9,600
oL Mztel A2F 80,0008 » 105 » 128 9,600
oM 0l 23S 1,320& * 10,0000H 13,200
o2Z Y 150,000& * 102 1,500
02 324l 19,240 19,240
Os82= ¥ MAl 11,240
ogt=AM2Ea RES 300,000& * 13 300
oZ3E M2l RE=2 300,000 * 12 300
ogt=mEAZE3 2AXE RFE=
250,0002 * 13| 250
oBTEAHBEE AN 2L
250,000& * 13 250
cANEZAMZ g2 8= 300,0008 * 12 300
oHIJHHA ALS= 800,000& » 122 9,600
oRd AIEZ 20,000& = 123 240
OA&&EHIs K] 8,000
o2& HHI=XHl  200,000& * 105 * 43/ 8,000
405 XKtaHE SHI 277,200 277,200
= 60,000
Al 217,200
01 AR =S EHSHI 77,200 77,200
Owoter HIS 7<) 5,000,000& * 14! 5,000
O ANUEEE A3 2,000,000& * 107K 20,000
Olt=4 HRH 1,500,000& = 10CH 15,000
OZ S X HII 2,000,000& » 6CH 12,000
O= A 3,000,000& * 2CH 6,000
o224 PoP 2,000,000& =+ 404 8,000
OuPs 5,000,000& * 1CH 5,000
O=EH 500,000& * 1094 5,000
oo HIEEE 300,000& * 404 1,200
02 EAM-H 200,000 200,000
O M-I 10,0002 = 20,0002 200,000
= 60,000

_33_




P JIERAE 2N BMSIETAIE
D BBEANE E2E 2 R (FIL2Y/2E0E)
 RBCHE 2% 245 (=E R L
22N "B G(S) - HPAY - BES e HRS2
| A 740,000
AL Rl 2el 731,020 731,020
101 1Al 46,610 46,610
10 JIZtHI22XsE = 46,610 46,610
OFAIEE ¢ M=xY 22y 11,653
=JllEa 40,6002 * 1989 » 2302 9,338
oxFH 40,6002 * 18 * 46 1,868
SE=PNE=y 40,6003 * 1€ » 11 447
O FAZAZZ] 1R 34,957
=JlEa 40,6002 * 398 » 230 28,014
oxFY 40,6002 * 3¥ * 46 5,603
SF=DNESISy 40,6003 * 3% * 11 1,340
201 223 163,410 163,410
01 AtR2teltl 37,070 37,070
Oget=EZH| 32,800
cHHY AR ESHI 300,000& * 123 3,600
<J|HEH =X 3,000,000& * 14 3,000
odAizel A2F 50,000 * 108 * 128 6,000
oStEA 22 A2F 1,000,000& * 12& 12,000
oMgdl A= HIE 100,000& * 502 5,000
oAl U SEA MAEAW
10,000& » 1085 128 1,200
=J|Et=2H| 500,000& * 43| 2,000
O=&t| 2,520
oUR 3 IHAH] 2,520,000& * 14! 2,520
ON4&EHl extz 350,000 * 1CH * 53] 1,750
3323l 126,340 126,340
O322=2 2 HA= 52,540
oE8iHiHl & B2  5,000& * 303 * 128 1,800
o3EAER 15,000& » 123 180
o&I|lz 2,000,000& » 12& 24,000
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oMgdl =HZ 200,000& * 123 2,400
ocdHeE =HZE 400,000 = 28 800
oMt =2 80,000& = 128 960
oMIIEIIEE =8 600,000& * 13l 600
oAYEA =8 600,000& * 13 600
o5d)| eHHEE === 150,000& * 128 1,800
ox==at 2tgl| 150,000& * 128 1,800
o=83 FAz 800,000& * 23l 1,600
cEAN Y NEY EF A
1,500,000& * 23] 3,000
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oHANALE =23 150,000& * 123 1,800
ocgFe RYE= 600,000& * 23| 1,200
oAUH 100,000& * 13 100
o0ISXOMbHA MASS 800,0008 * 13 800
o3t IHEE 700,000& * 13 700
OLK=1.] 10,000
o222 HEH|
100,000& * 25 * 43 10,000
(OZNF=FS{=IE=IN]] 63,800
oFHAE A 2IE2te]
1,200,000 * 3H * 123 43,200
ocdA=RAl 10,000,000& * 14! 10,000
odZEs ¥ IJ=2S |
5,000& » 5008 = 23l 5,000
=JIAAMNEEE | 2,000,000& * 14 2,000
o HH ZHIRAIYI 300,000& » 122 3,600
206 =4l 18,000 0 18,000
01 M=l 18,000 0 18,000
Ox==2c| SolE2H 200,000& * 53 1,000
O+==8 HI= 20,0002 * 50 1,000
OAEE £ ¥ 3,000,000& =+ 14 3,000
OOf=AEE HE #& 3,000,000& » 14 3,000
OHEE &=+ 8 10,000,000& * 14! 10,000
401 AIEHIZLSOHYI 424,000 0 424,000
01 Al&HI 424,000 0 424,000
Ogztat XIS At 10,000,000& * 14! 10,000
OO0tA=AEBE E=3At  15,000,000& * 14! 15,000
OFEAAE AIZSA 220,000,000& * 14! 220,000
OSAHMSE =28 EXSA 20,000
OUAHLXISA 70,000,000 » 14! 70,000
Obl=2 ZHIZ Al 25,000,000& » 14! 25,000
2R 2SS EHISA 700,000& * 4004 28,000
OJIEF 2UAIE EHI 30,000,000 = 14! 30,000
OXt&EH 22 AXIN 3,000,000& * 24! 6,000
405 KHabE SHI 79,000 0 79,000
01 Tt =S SFSH 79,000 0 79,000
OMEE &I 50,000,000& * 14! 50,000
O =SMgDIs 7 400,000& * 104 4,000
Okt 300,000& * 104 3,000
OS0l 2Xt 400,000& * 20K 8,000
oofasy 7,000,000& * 2JH 14,000
OISNEA HESALESY 594, 100 594, 100
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A= JBtAtR A A 2L=EAIEE =SS
FH: Q=5 - USAMUE (2L 2R /23H0=)
Chel: @ESALIISEZ (el &)
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
Q=EAEEY S 891,620 816,956 74,664
= 12,500
< 5,000
Al 874,120
L=E - g E (2L 2E /25 0=) 867,900 791,401 76,499
= 12,500
< 5,000
Al 850,400
SESHANLIISEL 374,398 340,566 33,832
AL Xl 2el 230,658 185,356 45,302
201 223 148,658 165,356 A 16,698
01 AtR2teltl 46,150 50,850 A4,700
Ogt==ZH| 8,400
oZSotEA ARE P& 700,000& * 12& 8,400
O axz 800
o M&E XXt 400,000& * 23] 800
Oo=2gs 36,950
SRS RSy 50,000& = 3H » 3 450
o= L 50,000& = 2% * 365 36,500
02 B=23l 102,508 114,506 211,998
OAdEHI= AL 22,548
SIIEMAI BRES
11,0008 = 2944 = 123 264
HEELHI| |FA2= 300,000& * 123 3,600
oZEHZ2IAIAE RXE =
11,0002 * 2Jh4 * 128 264
COEAYABBIA RIS
1,000,000& * 123 12,000
oMAIA HAMEL JISOHHE WA
35,0003 = 123 420
SHMIINERAES 150,000& * 12& 1,800
o AHANERIES 50,000& * 12& 600
oHHEI|IFXEx 50,000& = 12& 600
oS AMRRES 500,000& * 23| 1,000
ocgANERAES 500,000& * 23| 1,000
cIZERANES 1,000,000& * 14 1,000
O3322% HAl 69,860
¥ EE TN 3,000,000& * 14l 3,000
SRS RSIFSIN b= Eatay = 500,000& * 12& 6,000
cEHAEIIZ 4,500,000& * 12& 54,000
oMo E MEE 400,000& * 123 4,800
cAldSEIMNEREZ 500,000& * 23l 1,000
o A SHOHEE 3| 200,000 * 23| 400
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oSAHAIER 55,000& = 12& 660
OP=Fal ] 500
cHAZE0EXN RAES 500,000& * 14l 500
Odz| 9,600
oF2el & HHl H=Hl  800,000& * 123 9,600
206 =4l 3,000 3,000 0
01 M=l 3,000 3,000 0
O - A2 2SESE F=7Y
30,000& = 1002fA 3,000
401 Al&BIZL R0 78,000 14,000 64,000
01 Al&dI 78,000 14,000 64,000
OouUAX=sEx 30,000,000& * 14! 30,000
OxIHKSE* 3,000,000& * 14 3,000
OZUZIAMRA D42 SA
20,000,000& * 14 20,000
OZLIMBL FEESSA
15,000,000& » 14 15,000
OgAEES2 3tEA 2= 10,000,000& * 14 10,000
405 XHatF SHI 1,000 3,000 A2,000
01 MY 2 SHSH 1,000 3,000 22,000
O&olAlHYY 500,000& * 2= 1,000
B FH 2F XY 143,740 73,210 70,530
101 el24H| 55,240 55,410 2170
10 JIZtNI22 1 sSE =+ 55,240 55,410 2170
O&Fa e 46,610
=JllEs 40,6003 * 2302 = 4% 37,352
oxgrd 40,6008 * 46 * 4& 7,471
SISPN RSy 40,600 * 11 » 49& 1,787
OM =22l LAIAIH QIS 8,630,0008 » 14 8,630
206 M=Hl 15,000 15,500 A500
01 M=zl 15,000 15,500 A500
OO0r st 5,000,000 14 5,000
OHEE £ FY 7,000,000& » 14! 7,000
O%+222 5% 2 HERY
3,000,000& * 14 3,000
207 AIHEHI 18,000 0 18,000
01 HEH| 18,000 0 18,000
OMAXIS=SES AT ZHE L EFSE A
29 18,000,000& » 14! 18,000
401 Al&HIRH S0 50,000 0 50,000
01 Al&HI 50,000 0 50,000
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A= JBtAtR A A 2L=EAIEE =SS
MM ORF - URATE(RAURB/2B0IZ)
Chel: 22X 2435 (el &)
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
Al 7,000
Oget=ZH| 4,000
o W IHHIZ 10,0002 * 400& 4,000
= 2,000
Al 2,000
Ogxts 4,800
oZotStUHT A XA
600,000& = 2CH » 43| 4,800
= 2,400
Al 2,400
301 LBtEazE 2,200 2,250 250
= 1,100
Al 1,100
10 HAIAHIEAZ 2,200 2,250 250
2l e 2 At | 2,200,000 * 14 2,200
= 1,100
Al 1,100
MAILE SIHEHD S EE2H 50,000 46,700 3,300
201 2ptE3H| 50,000 46,700 3,300
03 A2 EHI 50,000 46,700 3,300
OEENZ 11,000& = 2,000% 22,000
ORSAMIXS 4,000,000& = 14l 4,000
O==22H% 4,000,000& * 14 4,000
(OFSUNESEYN K= 5,000,000& * 14 5,000
Osd M= 5,000,000 * 14 5,000
OoRER=a 2,000,000& 14| 2,000
O&E iz 3,000,000& * 14l 3,000
OdALRUHI= 2,000,000& * 14 2,000
Od=r==2Es 3,000,000& * 14 3,000
BRI L 232 3,370 2,400 970
202 G4d| 3,370 2,400 970
01 =LHOd I 3,370 2,400 970
OgRFa0| 3,370,000& = 14 3,370
E2 - AMAIYY S 293,230 250,800 42,430
L= 5,000
Al 288,230
s 126,230 118,700 7,530
201 Ypr2 | 39,230 22,600 16,630
01 AtS2teltl 12,270 11,600 670
Oget=EZH| 9,500
oM Al EHA 2] 500,000 * 44 2,000
ol Ye e 10,0002 * 2004 2,000
cHdsSaTY 500,000& * 43| 2,000
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ocMBEATY 30,000 * 20&H 600
oHSE sHil7Y 3,000& = 300& 900
ocEYE Y 2,000& * 1,00004 2,000

Oo2g+¢ 1,350
ol2?ds REddsE
100,000& * 9H + 13 900
oXt2IRE BHaLY
50,000& = 9H * 13 450
OYxt= 1,420
CREBEINY YIHRUSXHE)
710,000& * 23| 1,420
=322l 26,960
Oss0= £ HAl 11,000
CQEHANYUSE RS2
100,000& * 50& 5,000
CLE=FAHEESY HASSIHEE
5,000,000& » 14! 5,000
ogtE=2 galt 500,000& * 23 1,000
(OZNF=FSi=IE=IN ]| 15,960
og2asl| RAES
21,0003 = 1004 ~ 123 2,520
ozZJ| | 2= 110,000& ~ 104 ~ 128 1,320
o(CTVRAIZ = 50,000& = 128 600
oROIAYAAY X B4
880,000& * 12& 10,560
oSHMHAIFCIEl MHIA
10,000 * 8 » 123 960
MZ bl 9,000
M=l 9,000
OAZ/NE BE & HF 250,000& 208 5,000
O=&10 g9 4N +¢ 20,0002 * 20004 4,000
BB A F 5,000
JIEt2 A= 5,000
Omr=JI8k 24 1,000,000& * 53l 5,000
AEHIZ S 3,000
Al H] 3,000
OR2dA2 B+ 3,000,000& =+ 14 3,000
XHatE SHI 70,000
LSS F S| 70,000
Oggad R=+Y 70,000,000 * 14 70,000
QAHAHAKZ(S2=H) 90,000
S 5,000
Al 85,000
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A M L QEHA
SSPE(SHUBY/25002)
lelg A

g
_| a
i

- _ — &4
B E9(3) - NIEANY - BES St HI B S
Z2Hol ™ 90,000 90,000 0
& 5,000
85,000
ZHHALE & 90,000 90,000 0
XM AL 5,000,000 * 14| 5,000
& 5,000
ESMEALXIZ (AIHIZ=I)
85,000,000 * 14 85,000
S 2ALHSHE2Y 37,000 33,700 3,300
I=1:] 37,000 33,700 3,300
=4 37,000 33,700 3,300
ESTAHILE ME(221%)
40,0002 * 250MIE 10,000
ZE-FM MA 7,000,000 * 14| 7,000
EXH=EXZ 20,0002 * 500K 10,000
RS HgE A 25,0002 * 200K 5,000
ESEHIE ME(221%)
25,0008 * 200ME 5,000
StEEE X2 35,000 3,000 32,000
Z2Hol ™ 5,000 3,000 2,000
AAEYEX 5,000 3,000 2,000
StEEERE 24 5,000,000 * 14| 5,000
401 A EHIL LY 30,000 0 30,000
=ial 30,000 0 30,000
stEEFHIHIAY 30,000,000 * 14| 30,000
=gl 5,000 3,000 2,000
2t0l ™ 5,000 3,000 2,000
ABYEX 5,000 3,000 2,000
ISy Easlial 2x
5,000,000 * 14 5,000
S 243 41,612 51,485 A9,873
cl2g 21,612 21,485 127
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N2 2ANSES 21,612 21,485 127
Ooljzgssa Faad 10,150
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oE Xt 40,6002 * 10 406
Olfzgsi=2t oLy 11,462
S 33,8003 * 230 7,79%
oFFsg 33,8908 * 46 1,559
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= JIEtAtE & A 2=SAERES
A HY2LIH(LSHAEUS2)(DIEHIIE)
&2l Jl=3Hl

A= 2N ZHB(EH) - DAY - By 0fl b

o ZAAEI 2 500,000& * 1CH 500
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A= JIEtA R A M SEHMFAIZ 2 AR A
M 20z 2l ¥ 2 (2L 2E/250=)
&l 2atAlg el - 29 (&2 & &)
A= 2N ZHB(EH) - DAY - By 0fl b e Rz
ESMSAIZ2ACIARA 1,501,048 1,325,263 175,785
2oz 2ol ¥ 2 (L 22/28H0E) 1,204,273 1,009, 194 195,079
St 2L - 2d 1,204,273 1,009, 194 195,079
e - x3d 39 436,420 175,730 260,690
201 Zet23d] 56,420 55,730 690
01 AtR2elt| 5,320 5,800 2480
Oll=H| 5,320
CZBAR 22
270,000& * 16H * 13 4,320
o RUSAIA A= 100,0008 * 5F + 23] 1,000
02 S22l 14,600 17,500 22,900
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M DISEH 245 2 FH 4,162,622 3,711,848 450,774
= 26,710
Al 4,135,912
MEtM DI Mel QIS 3,230,000 3,000,000 230,000
207 IR 30,000 0 30,000
01 g1E9H| 30,000 0 30,000
OugM g II™el CItME JAJLZAL Y
20,000,000& = 14! 20,000
OdaMy)| datE 2dlg ZAEY
10,000,000& * 14 10,000
307 21201 3,200,000 3,000,000 200,000
05 QIZtRE = 3,200,000 3,000,000 200,000
OMEMYI|H2| 2129 et
3,200,000,000& * 14 3,200,000
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MeDISEH SF M 473,400 250,000 223,400
206 M=Hl 473,400 250,000 223,400
1 =4l 473,400 250,000 223,400
OMDIESEN HESE MA 473,400
=102/ 37& = 1,000,0000H 37,000
=202l 62& * 1,900, 0000H 117,800
o502lH 1382 = 1,000,0000H 138,000
=1002I& 258& * 700,0000K 180,600
MM DM 243t 216,856 269, 188 A52,332
101 1Al 6,496 0 6,496
10 JIZtN22HsSE+ 6,496 0 6,496
OLIME ¥ E2J]2t MejJIXel IFY
40,6002 * 498 » 40 6,496
201 223 150,360 135,188 15,172
01 AtS2teltl 17,880 19,040 21,160
Oget==&H| 10,380
SEHAAM Y H0r HH
100,000& * 107K 1,000
oMYDIHEE A XNBEXE M
50,0003 * 2004 1,000
cHEHII=S ADES MA
200& * 15,0000H 3,000
oEYS)| WS AN 7Y
600& * 3004 180
oMYIISHEHM EE2= MH
1002 * 3,00004 » 28 600
oHAMHY 2% 2R Y
1,000,000& * 14 1,000
o2Z0IstE FAEF 7L
10,000 * 15 * 160 1,600
o EZ0ISHE AAHSH)2CIAAY SXI2e]
2,000,000& 14 2,000
O=&l 7,500
oEHAXY MY 2EY SA
7,500,000& » 14 7,500
02 3224l 132,480 116,148 16,332
O322= % HAl 9,720
cEANISFRALEARA HASHZ
60,000& * 12& 720
oHAZY AAEL2
30,000& = 9CH = 13 270
cEHANY BEE 500,000& = 9CH = 13l 4,500
oA BAMWARES
135,000& * 9Cf = 23] 2,430
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ol MEDISR BN L HE (EHol: &2
- PSIE
A= 2H - FH - HAE) - NRAY - BES Oll &4 ‘oﬂ‘&g HwsZ
CEHINBACEINGA =AE 082
50,0002 * 122 1,800
OIEX] 3,960
CBAOISAIIA LY HEY|
1,508 * 3CH * BAIZE * 1102 3,960
Oxtg - et 18,800
oHAXZY RBYl 700,008 « 9K + 122 75,600
oA SHRX
400,0008 * OCH * 128 43,200
206 W& 10,000 11,000 A1,000
01 M2l 10,000 11,000 A1,000
OHAXY ASUE 7Y
30,0002 * 257 * 23] 1,500
OF2E2 XS NS 200,008 * 150} 3,000
OMYIISYRZE BOHL QYT
10,0002 * 5074 500
OMDIBYH ZSHEE SBHH
500,0002 * 105 5,000
307 21201 H 50,000 30,000 20,000
EI=PNIES 50,000 30,000 20,000
OMHIIHRE AQIAREAIY =7
50,000,002 * 14! 50,000
SRIEDI2 R 2435 130,000 64,200 65,800
201 2er2 | 30,000 4,200 25,800
01 At2arelt] 30,000 4,200 25,800
ogxz 30,000
cEYHYHIIS ZH BHAXE
250,0002! * 403l 10,000
o472 YXHIIZ Hel BUIYR2
1,000,0002 * 203] 20,000
307 21201 H 100,000 60,000 40,000
05 SI2t9IEt3 100,000 60,000 40,000
OBZoH+SF AddIgel
50,000,002 * 14! 50,000
ORIMYI| Hel 50,000,002 * 14! 50,000
sHHe 2 8,580 4,500 4,080
201 YBr2 | 3,600 2,000 1,600
2 ZZ2YH| 3,600 2,000 1,600
0Z3e2 2 HAl 3,600
SEHEI| ZAIM SIHASE S
90,0008 * 23| * 20CH 3,600
301 YerE Az 4,980 2,500 2,480
12 JIEtE A3 4,980 2,500 2,480
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A= JBtAtR A AN HEEIAEA
M YHE MEEA M (BHEES/HIIS)
Eel: MYDISEH 2de 2 HE (&2 & &)
_ - PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
| OMelD| 2¥SI| A28 30,0008 « 1669 4,980
LA EHOt 11,872 12,080 2208
201 Ler23d| 1,872 2,080 A208
01 AtR22lt| 1,872 2,080 A 208
Oget==&H| 1,872
SHAANM RTEIY M
36,0002 = 520K 1,872
303 Z&3 10,000 10,000 0
01 Z&3 10,000 10,000 0
OFAAIR L BATY| L4012 T4 10,000
o xR 2,000,000& * 2JHA 4,000
ol 900,000& * 4JHA 3,600
o 400,000& * 6IH2A 2,400
LRSFZAN 24 89,034 89,000 34
< 26,710
Al 62,324
101 e1AH| 89,034 89,000 34
< 26,710
Al 62,324
10 JIZtNI22sSE =+ 89,034 89,000 34
Oaz2H 24,897
=JllEs 40,6003 * 2642 = 19 10,719
= 3,215
Al 7,504
oW EH|(04H]) 10,000& = 3122 » 1¥ 3,120
= 936
Al 2,184
o= 2| 5,000& » 312 » 194 1,560
= 468
Al 1,092
o A2t 6,680& * 482 * 8AlZt 2,566
= 770
Al 1,79
o5ddRH 40,6002 * 48 1,949
= 585
Al 1,364
o= 893,200& * 43| 3,573
= 1,070
Al 2,503
oIS At 39,300& * 10 * 1H 393
= 117
Al 276
cAHEE (AMSE) 1,016,040 * 14 1,017
= 305
Al 712
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SHol: MADISTR BHS L B (ol @)
- _ — &4
AERE CRE-ERI=CICE DR EINRE-REE Ofl &t o4 St HI B S
OII2HHl 64,137
SPUE== 40,6002 * 230 * 5% 46,690
= 14,000
Al 32,690
o usSH(04H]) 10,0008 * 180€ » 5% 9,000
= 2,700
Al 6,300
oAl2tel=g 6,680 * 40AI2t » 5 1,336
= 401
Al 935
SE SRS 40,6002 * 102 * 53 2,030
= 609
Al 1,421
AU EE (ML E) 1,016,040 = 5& 5,081
= 1,534
Al 3,547
MEADISEN 2detAg 233| 2,880 2,880 0
202 OdHl 2,880 2,880 0
01 =WHHI 2,880 2,880 0
OXgDISEM 283 & & =AY
60,0002 * 438 = 123 2,880
A2Eef & Mas 54 1,973,244 1,580,340 392,904
SHEFHII= U2AE Xl 1,365,000 1,224,720 140,280
207 AN 15,000 0 15,000
01 A=Yl 15,000 0 15,000
OSASFRHII= SIHAE JJIEA HPEY
Bl 15,000,000 * 14 15,000
307 21201 ™ 1,350,000 1,224,720 125,280
05 22t E= 1,350,000 1,224,720 125,280
OsA=FHDI=2 UZ?EXC
90,0002 * 15,000& 1,350,000
SAEFHIIZ SCHE € N2 227,000 198,300 28,700
201 &er=gHl 42,900 45,800 A2,900
01 AtR2teiHl 1,800 2,000 A200
Oget==2H| 1,800
oSASMDI 2elthE 222 MH
902 * 10,00004 * 25 1,800
02 s&=294| 41,100 43,800 A2,700
O=32= & MAl 15,900
CSASHAXY AAMLLR
60,0002 * 3K = 13 180
oSASHATIZ BEE
1,100,000 = 304 » 12 3,300
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M YHE MEEA M (BHEES/HIIS)
ol RRAES U HEE =X (S5l &)
_ - PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
oZBASHAXEY SIMNERES
70,000& = 304 * 23 420
oSAZMY D SIAE BSFY ALY X
Sl k= 3,000,000& * 43 12,000
OXtgr &et| 25,200
oZAE FAaXE RFEH
400,000& = 3CH » 12 14,400
osA2 BAXEY 2l
300,000& * 3CH = 128 10,800
206 =4l 68,000 73,500 25,500
01 MH=HI 68,000 73,500 /5,500
OSASMYD| SEH SEMH
50& + 1,000,0000H 50,000
OsaSMYIl AE8ED| HH
30,000& = 50074 15,000
OSAZ24Y I 48| 25942 Y
30,0002 = 5000 * 2& 3,000
307 gI2ol & 106, 100 69,000 37,100
05 QIZtRE= 106, 100 69,000 37,100
OSAEXYD| EE+=HEI| M=
106,100,000& * 14l 106, 100
401 AIEHIZSOHYI 10,000 10,000 0
01 Al&HI 10,000 10,000 0
OSASMYD| HEd E=3A
10,000,000& » 14! 10,000
N&=2s el 4dst 378,364 154,440 223,924
101 Q12| 69,914 0 69,914
10 JIZtN22HsSE+ 69,914 0 69,914
OMass dEHY UFY
40,6003 * 7H * 2462 69,914
201 LEr2H| 22,450 23,730 21,280
01 AtR22lt| 2,700 3,000 A300
Oget==&H| 2,700
cMHEEE ZlthE EE22 ME
90& = 10,0000H * 33 2,700
02 3Z=24H| 19,750 20,730 A980
O332= % HAl 7,150
SHHZS $TS44+2
1,000,000& * 53] 5,000
oMES X (HHl) As==2
30,000 = 3CH * 13 90
oMEEHAXNY BEE
600,000& = 3CH = 13l 1,800

_63_




= JIEtME

IS

I}
x
z
for
o
oy
=
R
IS

ERSp ﬂH&*@iﬁ%@%ﬂ }_@(%%izé/fﬂljlé)r o
ol RRAES U HEE =X (S5l &)
- _ — PolE |
AZ R4 FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
cHESS LAY HI MRS
130,000& * 1CH » 23] 260
OXtg &etdl 12,600
oMEE Xt (&) |7
200,000& * 3CH = 12& 7,200
oMEE Xt (HH]) =4
150,000& * 3CH « 123 5,400
206 =4l 46,000 13,700 32,300
01 M=l 46,000 13,700 32,300
OMass 2cls=He M 700,0008 * 4004 28,000
OMEES =H FEHIE MH
500& = 10,0000H » 2& 10,000
o=z 2olAY(as) M
3,000& * 2,0004 6,000
OHg&S =20+ & =18 WH
100,000& * 200K 2,000
301 LEE A= 180,000 90,000 90,000
12 JIEt2 4= 180,000 90,000 90,000
ONMEgEs =& Hd= N
1502 = 1,200,000kg 180,000
401 A&HIRH S0 60,000 27,010 32,990
01 Al&HI 60,000 27,010 32,990
SZHHY 2H0180tE ZXISAt
4,000,000& * 5 20,000
OMEE BTAIE ST
20,000,000& = 14! 20,000
oMess =FHXE EXISAt
20,000,000 * 14! 20,000
Eer & HESAY 23] 2,880 2,880 0
202 o4l 2,880 2,880 0
01 =U0bl 2,880 2,880 0
ORBES L HES =Z =0
60,0008 * 4H » 123l 2,880
YA (MESF A A)(OIEHDIEH 8,527,799 7,668,236 859,563
QIR A| 8,489,675 7,628,312 861,363
el A 5,360 5,360 0
203 PR=&H| 5,360 5,360 0
02 HRAIMHRFEY| 1,160 1,160 0
OZAIMAR =X 40,0002 * 29H 1,160
04 EA2ELRFAHI 4,200 4,200 0
ORA2IHRFA 350,000& » 12& 4,200
30|t AHHI XA 8,484,315 7,622,952 861,363




FA

M UY2IAH(MSIAGLA)(OIE/DIIE
el 2] (&2 & &)
A= 2N ZHB(EH) - DAY - By 0fl b e Rz
101 eIl 8,484,315 7,622,952 861,363
09 RIIAHA2ZAE = 8,484,315 7,622,952 861,363
ogdilstd =0 8,484,315
oJllE2s 2,299,051
- 54 1,058,080& * 13 * 12& 165,061
- 104 1,117,570& + 53Y » 128 710,775
- 164 1,200,360& * 39H * 128 561,769
- 204 1,280,330& » 41H * 128 629,923
- 25 1,365,620& * 12H * 12& 196,650
- 304 1,453,040& * 298 » 123 34,873
cduz(0IZsd) 565,579
- b4 1,628,080& » 50% » 43 » 13¥H 42,331
104 1,687,570& » 50% * 43| » 53¥H 178,883
154 1,770,360& * 50% * 43| * 39Y 138,089
- 204 1,850,330& * 50% * 43| * 41 151,728
- 254 1,935,620& * 50% * 43| * 12Y 46,455
- 304 2,023,040& * 50% * 43| « 2% 8,003
o0z (E32+E) 272,209
- 54 1,628,080& * 25% » 23| * 13¥ 10,583
<104 1,687,570 = 50% » 23| » 53 89,442
- 154 1,770,360 = 50% » 23| » 39¥ 69,045
- 204 1,850,330& » 50% * 23] » 41 75,864
- 254 1,935,620& * 50% » 23] * 12 23,228
- 304 2,023,040& * 50% » 23| * 2H 4,047
oMU (MAHI) 706,972
- 54 1,628,080& * 50% * 53  13¥H 52,913
- 104 1,687,570& * 50% » 53| * 53 223,604
- 154 1,770,360 = 50% » 53| » 39¥ 172,611
- 204 1,850,330& = 50% » 53| » 41 189,659
- 254 1,935,620& * 50% * 53| * 12¥ 58,069
- 304 2,023,040& * 50% * 53 » 2% 10,116
o H MG (HHRAL)
40,0002 * 1608 » 1.0 » 123 76,800
o F UL (IIE)
20,000& * 160H * 2.0 » 123 76,800
oAU ESYRE
90,000& = 160H * 128 172,800
SRSELE= (@S ge Py P = s
70,000& = 160 » 12& 134,400
oYM (ML)
60,000& = 160H * 128 115,200
oSC|FMH(FUZAH])
160,000& * 160 » 123 307,200
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SN MSEBAA

FHB . BR(S) - NRAY - BYS e HIDE2
oS24 (OtHE XHI)
110,000& * 160H * 12 211,200
os2|2dd(nsSExl)
140,000& * 160 * 12 268,800
oSS MH(FEFOHI) 339,348
- 54 1,628,080 = 60% » 23| » 13¥ 25,399
- 104 1,687,570 = 60% » 25| » 53¥ 107,330
- 164 1,770,360& * 60% » 23| * 39¢¥ 82,853
- 204 1,850,330& * 60% » 23| * 41 91,037
- 254 1,935,620 * 60% * 23] » 12HF 27,873
- 304 2,023,040 * 60% * 23] » 2% 4,856
CETTD4H(012)
4,040 » 110& » 262 » 123 138,653
SEn )
97,1802 = 1609 » 5 » 12& 932,928
CETTR4L (27
64,7903 * 160 * 20 207,328
ol S BESEH(S5t )
52,0002 * 160Z » 0.35 » 42 11,648
o NHASHIE X +E(NES W)
409,450 = 1608 * 0.2 * 43 52,410
oIl =] 64,000
ags 80,000& = 160 = 23| 25,600
<9 40,0002 * 160 = 13/ 6,400
- gers 120,000& * 1602 » 13/ 19,200
=) 20,000& = 160Z = 13 3,200
st 20,0003 = 160Z = 23 6,400
SR 10,0003 = 160& * 22 3,200
=0z RfE=  6,825,268,000& * 4.5% 307,138
cHUEE FHSI  6,825,268,000& * 2.54% 173,362
U HEEZ 6,825,268,000& * 5.17% 352,867
cNEEEE 6,825,268,000& * 1.75% 119,443
oEl X3 B8=
3,587,860 * 5F = 20& * 150% 538,179
SMHSHENS 62,5002 * 160Z = 13 10,000
ocEA=s2dM W=l EX
3,000,000& = 5% » 23] 30,000
38,124 39,924 21,800
38,124 39,924 21,800
U2 22,124 22,524 2400
S2tefdl 21,284 21,780 VAVI®S
UBt=ZH| 11,564
CHANRE AZRE FU(EIIT S)
200,000& » 10 2,000
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M UY2IAH(MSIAGLA)(OIE/DIIE
el Jl=3dyl (et &3
A= 2N ZHB(EH) - DAY - By 0fl b e Rz
CHMITARE XF FL(SAEX S)
400,000& * 43] 1,600
CTATH 228 PY(EH S)
300,000& * 85 * 23/ 4,800
oHFARE FH| #=2lt|
150,000& * 68 * 23] 1,800
SUER=Z 12,0008 * 65 » 12& 864
oM & HEdE £ 100,000& * 58 500
O=&l 6,360
cl|2Y R4 6,360,000& » 14 6,360
OYxt= 3,360
&= Xz 40,0008 * 700 = 123 3,360
02 33244l 840 744 9%
Os32= ¥ MAl 840
oTV(AJIOIZIOIZ) AIEZ 70,0008 * 12& 840
202 OdHl 16,000 17,400 21,400
01 =UW0bl 16,000 17,400 21,400
OJl2ge+d =W0edl  1,600,000& * 10& 16,000
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